. G

~

VOS(QM 2 C 65’(13 \‘ﬁtQ‘OV\C ¢

T e fif\neru! Sol u”bOV‘ Hor the  follow 9 [g_@fﬁg.ﬁ;

.Zﬂiua( ' Y - gy =
°1

KMS e Bernpulli _egh l?CCwAV_’thf ef e foim

\|‘ TP(SL)‘:{, < &&32) {}0" (()U()Z ‘59 V= ‘l;f“: ""S

{ ‘ &‘(‘0:\)

we  Solve fHars Wnﬁﬂn\i 7‘8‘(@031

(0 Dssociat el L‘hmoﬁ,emeOu/S (\2 (Ng SOWQ’ﬁu ‘zUj._L_._

[) aSigcraked L\ovwnvj,d o Qrmk)d = ’-g‘bclx

ex =z ext(
[*Qbﬁfb’ e o \(( -~ ‘6>,\
W ‘\ d-~e ﬂ‘
NP A G 1,7
(" ex (-3) i~
W - N
E U/L . 7 15 X
| Ul N oz £

\V“\'Cé’wa'(é o otin g\‘c‘ég Lt X

| (u du = C, -15X dx

) C\X,. , 1t

i 5 " 1

W e G

| K 9

1 2 —{Sx

| W o= —¢ y C

| — g

U= —— -

[ B S S

RV

C‘i?—""




